Problem 01

NORHMAL FLOAT AUTO REAL RADIAM HMP [] NORHMAL FLOAT AUTO REAL RADIAM HMP []

Plotl Flotz Plot3

E\Y1EX° WINDOW
..................................................... Xmin = -10
I\Y284 (Y1 (X)) Xmax = 10
ENY 3= _
ENY4= Xs?l =1
BMNY5= Ymin = -10
“Ye= Ymax = 10
B\Y?= Yscl = 1

How would you describe the transformation? Is this a vertical stretch or a
horizontal compression?



Problem 02

Flotl Plotz Plot3

E\Y 1EX°+1 WINDOW
..................................................... Xmin = -10
I\Y284 (Y1 (X)) Xmax = 10
ENY 3= _
BNY4q= Xs?l =1
B\Yc5= Ymin = -10
\NYe= Ymax = 10
E\Y?= Yscl = 1

How would you describe the transformation? Is this a vertical stretch or a
horizontal compression? How can you tell?



Problem 03

Flotl FPlot2z Flot3

I T VAC £ L A

ENY2B4 (Y1 (X))
BNY 3=
ENY4=
ENY5=
\NYs=
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How do you know this is a vertical stretch and not a horizontal

compression?




Problem 04

Flotl Flot2 Flot3

I\Y1B(X-1)° WINDOW
..................................................... Xmin = -10
I\Y28Y1(2X) Xmax = 10
ENY 3= _
BNY4q= Xs?l =1
B\Yc5= Ymin = -10
\NYe= Ymax = 10
ENY 7= Yscl =1

How do you know this a horizontal compression and not a vertical
stretch?



Problem 05

Flotl Plotz Plot3

\y:1g82" WINDOW
..................................................... Xmin = -10
I\Y284 (Y1 (X)) Xmax = 10
ENY 3= _
BNY4q= Xs?l =1
B\Yc5= Ymin = -10
\NYe= Ymax = 10
E\Y?= Yscl = 1

How would you describe the transformation? Is this a vertical stretch by
a factor for 4 or a horizontal shift of 2 units to the left?




Problem 06

F1lotl Plot2z FPlot3

m\y 182" WINDOW

ENY2B8(Y1(X)) Xmin = -10

E\Y 3= Xmax = 10

ENY4q=

ENY5= Xscl =1

\Ye6= Ymin = -10

::ﬁ?f Ymax = 10
8= Yscl =1

How would you describe the transformation? Is this a vertical stretch by
a factor for 8 or a horizontal shift of 3 units to the left?



Problem 07

NORHMAL FLOAT AUTOD REAL RADIAN HMP [] NORHMAL FLOAT AUTOD REAL RADIAN HP g[]

Flotl FPlot2z Flot3

B\Y1B2"

ENY 2B5(Y1 (X))
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This a vertical stretch by a factor of 5 and also a horizontal shift of

units to the left.




Problem 08

Plotl Plotz Plot3

ENY1Blo9a(X)

ENY2B82+Y1 (%) WINDOV_J
ENY 3= Xmin =
ENY 4= Xmax =
NV Xscl =
“Ye= o
ENY 7= zmln -
ENYg= max =
E\Y o= Yscl =
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How would you describe the transformation? Is this a vertical shift of 2

units up or a horizontal compression by a factor for 1007




Problem 09

Plotl Plotz Plot3

ENY1Blo9a(X)

ENY2B3+Y1 (%) WINDOV_J
ENY 3= Xmin =
ENY 4= Xmax =
NV Xscl =
“Ye= o
ENY 7= zmln -
ENYg= max =
E\Y o= Yscl =

-10
10

-10
10

How would you describe the transformation? Is this a vertical shift of 3

units up or a horizontal compression by a factor for 1000?




Problem 10

Flotl Flot2 Flot3

ENY1Bloa(X)

ENY2B4.5+Y1(X) WINDOW
E\Y:= Xmin = -10
BNY 4= Xmax = 10
EN\Y5= Xscl =1
\Ye= Ymin = -10
ENY?= v _ 10
ENYg= max =
ENYa= Yscl =1

This is a vertical translation of 4.5 units up and also a horizontal
compression by a factor of



Problem 11
The function y = f(x) iIs graphed

using a solid line. The function

g(x) = f(ax), for some real number a,
IS graphed using a dotted line.
Approximate the value of a.




Problem 12

In the figure the solid curve
represents y; = x% — a and

the dotted curve represents

y, = (y,)?, for some integers a and
b. Moreover, y, has two vertical
asymptotes that pass through the x-
Intercepts of y;. If the distance
between the y-intercepts of y, and
y, Is 2 and if b > -3, find the values
of a and b.

6 -5 -4 -3




Answers:

Problem 01

Both are true

Problem 02

Vertical stretch by a factor of 4 because the y-intercept changes
Problem 03

Vertical stretch by a factor of 4 because the x-intercept doesn’t change.
Problem 04

This is a horizontal compression by a factor of 4 because the y-intercept doesn’t change and x-intercept does change.
Problem 05

Both are true

Problem 06

Both are true

Problem 07

In5

In2

Problem 08

Both are true

Problem 09

Both are true

Problem 10

1045 = (\/ﬁ)
Problem 11
a=2

Problem 12
a=l,andb=-2

9



